GEOMETRY QUIZ 1.1 (Part II)
1. Construct a copy of the line segment AB from the triangle. The copy should have one endpoint at P.
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(2 points)
2. Construct a copy of 
[image: image2.wmf]DAC

Ð

.







(3 points)
[image: image3.png]



3. Bisect all 4 angles. 

(4 points)
[image: image4.png]



4. Construct the four perpendicular bisectors of the sides of the rectangle below.
(4 points)
[image: image5.png]



5.
Construct a triangle with a 30o angle and a 45o angle.  What is the measure of the third angle?
(5 points)
GEOMETRY QUIZ 1.1 (Part I)
For question 1, identify the letter of the choice that best completes the statement or answers the question.
____
1.
____ two points are collinear.




                           
(½ point)

	A.
	Any
	B.
	Sometimes
	C.
	No



2.
Are O, N, and P collinear? If so, name the line on which they lie.



(½ point)
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3.
(a) Name the line shown in the diagram.






(½ point)



(b) Name the plane shown in the diagram in two different ways.



(2 points)

                                                                                    [image: image7.png]




4.
Name the ray in the figure that is opposite [image: image8.png]CB



. 





(½ point)

                       [image: image9.emf]A
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5.
If [image: image10.png]EF



 is opposite [image: image11.png]EG



 and [image: image12.png]EG



 is opposite [image: image13.png]EH



, what can you conclude?  Explain.

(2 points)

Use the diagram below to answer questions 6-7.

                      [image: image14.png]




6.
If XZ = 3x, XT = x + 3, and TZ = 13, find XZ. 





(1 point)

7.
Suppose that T is the midpoint of XZ.  If XT = 2x + 11 and XZ = 5x + 8, find the value of x.

(2 points)


8.
(a)
Name all segments that are skew to [image: image15.png]








(2 points)
(b)
Name all labeled segments that are parallel to [image: image16.png]






(1 point)
(c)
Which plane is parallel to plane DEF?





(1 point)

                [image: image17.png]



Use the diagram below to answer questions 9-11.

 


[image: image18.png]




9.
Name two different planes that contain the points C and G.



(1 point)

10.
Name the intersection of plane AED and plane HEG.




(1 point)

11.
How many planes contain the points A, F, and H?




(1 point)

Use the diagram below to answer questions 12-13.

[image: image19.png]




12.
Name a pair of parallel planes.







(1 point)

13.
Name a line that is skew to line XW.






(1 point)

14.
If [image: image20.png]x— 12, FG = 3x- 15 and BG




 find the values of x, EF, and FG. The drawing is not to scale.

[image: image21.png]









(2 points)

15.
If T is the midpoint of [image: image22.png]5U,



 find the values of x and ST. The diagram is not to scale.

[image: image23.png]









(1 point)



16.
If [image: image24.png]moROF = 26



 and [image: image25.png]mo FOG




, then what is the measure of [image: image26.png]ZROG?



 The diagram is not to scale.

[image: image27.png]










(1 point)

17.
(a) If [image: image28.png]mL BOC = 27



 and [image: image29.png]mLAOC = 47,



 then what is the measure of [image: image30.png]ZAORB?



 The diagram is not to scale.



(b) Use a protractor to find the exact measure of 
[image: image31.wmf]AOC

m

Ð

.  Classify the angle.
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(3 points)

18.
If [image: image33.png]mLDEF = 122,



 then what are [image: image34.png]mL TR



 and [image: image35.png]mo HEG?



 The diagram is not to scale. 
(2 points)


[image: image36.png]




19.
A circle is drawn on the coordinate plane.  The end points of a diameter are shown.  What are the coordinates of the center of the circle and what is the length of the radius (in simplest radical form)? 











(3 points)






[image: image37.png]



Solve the equations in questions 20-23.

20.
2 – t = 12









(1 point)

21.
-4x + 3(2x – 5) = 31








(2 points)

22.
6t = 3(t + 4) – t 









(2 points)

23.
4b – 1 = -4 + 4b + 3








(2 points)
Solve the system of equations by graphing.

24.
y = 2x – 6



x + y = 9














(3 points)
Solve the system of equations.

25.
3x – 4y = 0



2x + y = 110














(2 points)
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